o
[N

<3 @> (rad)
o
=
[¢)]

< d cot(B) >

o
N

..........

[ , - o-0.3F :

3 c of hitH

2 ; ;

£ i LR sl IR R
ot 4 -

>3 0 3

1 2 3 2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

T_URIGS

T-MODIE

TrowPtQ MODIF

TLowPtT “MODIE

TandPLess_MODIF

T

<op/p. > (%)

E : : : g_ E : : :
80 ([t HHT et et e e = 80f-1|{HH I t-

E k 1 : A E : : {
OF ! T FEA < 60 ||k 11115

r : : 2o} r : : 3

- .th _. ..... \V] 40__ .. 1} - H
20F- ST 20F- ||\l i A
of gL LT o[ i e

- : i [ —20F--1{FiF . f

2 gt ~aof--{[NH AN i

3 : i -60F- eIt il it

L b i r i R A

r S --- - _80__

A R OR T IRAL A AR A A A A EANARTTAREARAAARI1EN A A 109 LR LE )LL) B B L Ll L BB

.Af;

T LCELATET L e d T T T 111K
3 -2 -1 0 1 2 3 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

[#0) LAkl AR LA AL L

19 b N W O

SE—TTTTTT :

af-- AL R
aftifihni
2; ’ : H
F 1 (TLTH[EL (TR LLE

O -1 [T ‘,xl*m”'*

_1:_ “’J i »':v L

?. | | Ll | |

A3
-2 -1 0 1 2 3
TP n (PCA to beamline)




	Contents
	Page 1


